SESEIR B L7~L10+4=E50 & ERERRFE ([FEPPEIERERD ) *0.4+48 EAESE*0.4+43 LHIER*0.2
by U5 U6 Review 3 4 | FERRA0%+{E 2£40%+HIER20%
- o —EE4R1-1, 5-1~6-1 . - .
B 2 —AELR3-4~4-3 4R b HE2230% +/E2£40% + HIER30%
4 36~53 “ SRR R (B K B RB)*0.4 + 48 _E{ESE*0.4 + 48 FHIER*0.2
5 55562 43 LR R (S K E ) 0.4 + 48 LIE3E*0.4 + 48 FHIER*0.2
5 L5-L6 48 [ U RA0%+E2£40%+ 55 20%
HhE L5-L6 48 | HH R ERA0%-+{E £ 40%+ 1B 20%
N L5-L6 &3 R RA0%+E2£40%+ 55 20%
EEIARERES0% + {E2£50%
{355 2-3.3-13-2 (1B B E R B IEE 4 ER R e E
2AEEEESR EIEE. & EHER
SINEN) SENS 5 TS FO] Bl . N — .
e PR A SRR B BRI IR st Eomre s s -
ik SRFES0% (4R L. EEEAR) + (EES0%(ZTtarE. HIER. (E3ER)
iz SRFES0% (4R _EHIFE. EEEAR) + (EHS0%(ZTtarE. HIBR. 1E3ER)
e FRFES0% (4R LI, EEFAR) + (EHS0%(ZTtarE. MIER. 1EER)
LGE AT SR AT B OB i T AN A
[P R T B S E T A E
=il BB IEEI 4R _EERAESE R E50% & BhE R E50%
ASERES [EL B IR 47 LR IR SERES0% B BN L2 50%
= - _‘ﬂié&UG S2ZE N0, M M0,
ERAERE —fEERUBHUI &R I R #R50%+{ESE50%
TR B AR H 2RI ESE B FERE50%+47 _EESES0%
Gt /AT —EAR-EET= e R
BRITRE
SRR AN 4 SRR R BB N E %) *0.6 + 43 _EfE¥E*0.4

CAERR-BEIT = RV S
BTl EVEOR R




